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+. If we consider a closed economy mode!, which Y=100+0.9(Y-T),
[=100, G=50. and T=50. Assuming Y= 1250, Which gap will be
found? (deflationary gap or recessionary gap) Please calculate the
value of gap. (8%)

AL A A 0 484 &b 2 CPI(consumer price index) 2 &, ° i 4o CPI
=[PI=GPl=LS5, XPI=MP1 =26, ¥#B LT % F 2 B RATIFHR
B Aa B R H Bk 18 1 64 4 4% 45 #(implicit price index) - (8%)

Eo 801 (¥m7+1&x)
o 783

R aH & &8 768

HATH R H 237

% 30

il 349

B & 231

AETZ AL 295

BN RAMRLED 574

2 £ BN FR -6

L BEXZEREEA QR =150-5py+0.17-10py * #F]
@ XAYTHEEE XS EL 2 HREZ - 3%)

(b)) XAY —FMASRKLXIHL? HREZ - O%)

(©) Bampy=12 172000 » py=20» KX 213 HM - (3%)

T RXREXNS ) YRALESE ¥ Hi=%2 ICC (income
consumption curve) (145 % Qx ; 4¢3 % Qy) R A iastay B i 5 o
% (Engel curve) - (8%)

to A EHRERR T BTS2 R R A E - THTISAE R
%2 5 2 9 (3%)

T RERBAZTRESH B
S=025Y+r ; [=0.05Y-3r+40 (r B#]&K%)
BEROMAETE FEROEMEZTE S5 » R E R B3]
A M =04Y Ms=lo%r_l)“10 ° M, is the transaction-

precautionary demand for money - s s Is the speculative demand for
money - XK

(D IS shsg F a2 K - (3%)

() LM £ R - (3%)

Q) HEBERAFY - 3%)




